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PART 4

For each question tram 1 10 20, four options are giver;, Ope of them is the correct answer,

Make your vhoice 1, 2, 3 or 43, Shade the correct oval {1, 2, 3 or 4) on the Optical Answar
Chc\_
Nl \,C{_

{30 X 2 marks)

s e el 4943 Ui 3 = 3 TSN e S WY b A1 i R

} 1 gram of fertiizer 5 added 1o 500 mt of water ina jai. The water is stimed until all ths
fentitizar Is Ciesoived. Ther a balsam plant is placed mio the jar as shown inthe
Siagram Delow.

~

baleayni
piant

R o}

water with
dirsnlved fartilizes

What will v ine volumie of the water and the mass of Terlilizer iy the iar atter
days?y >

-

P

: i
P vohume of water left {m} Mass of fertifizec{g) !
‘ L - é«\'\ : ]
A . 0 1 L
{2) ! —
{3 '% :
AN N
) : :
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Whizh one of the foliowing young animals Is at stage 72

(1) (A - ]

PR e o)
SR i Ay

3
- ,-_.-\,\-\—-\\ -~ _"k‘_a"&,;' N,

(3)

www'mis_s_kph.co{n 508 of 618.




The neels of Mo Lees shoes left scratches on the pargquet fioor, This shows that
the heeis ol the shoss are Jthan the parguet.

(13 Fzrdier
{23 Fourher

{3)
{4)

Trie diamram pelow shryws Hiee parts of an 8leciis iron.,

e R
T T T e
{ ; AN
Vi PAAAACOANYAY
SR - . N
. L

Which o1s of the foliswving best desaeribes the oroperty of the materia
suifabia Far making each of the three parts?

2
r
0
2
&
e
(]
b

Handle Sole Wit i

|

! ) o
i) { pot: condaector of heat | good concuctor of heal § 7

)

j

ood conduclor of . g
Hectricity : Ao TSR

s

IR ]

{2y i aoor condactor of heat

ﬁ‘ A TS Y 3 - I N ARt ;
L poor eonducior of . as30d condustor o /
(3 g good conductor of heat | =~ . ' i
! = 2iesiriciy : :

~——r - d

good conducter of !

i elecinicity i
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5

ay

When water boils in 2 pot, we can see a "mist’,

‘mist! ——————

What is this “mist"?

-

N et N

steam
owgen

vater vapour
water droplels

—~ o~~~
[\

The diagram belcw shows a porlable water containgl holding 1000 em® of
capacity of the container is 5000 ey

1000 e ——

ol waler

Whan tha tap of the containeris tuned on and o ‘f S04

Cof wararis collezizd in the
botie, Whztis the fina! veluma of 2 in the D_)"l

[ RN

(1) 3500 em? (<)
: {a)
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«l

Cne dark nighy, M Ary weiked from Ate C) passing a larmp post &t G

e e

farmnp post

8

&

19 the oty lighf sovrce nashy was the lamp post, which one of the craghs balow
shows haw e leaghn of His shadow changes from A to 007
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n the disgram above shaoty

<

2 200wWs |

Th

sugar

(1

(2)
(3)
(4

mineral salts
. carbon dioxide

N

e da'es

L0

ord

aval
AW

tor

wauld correspond (¢ ihe
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Mr and Mrs Tan have the following features.

Helr s
Mr Tan Straight tached
| Mrs Tan Curly etached

_ i L

They have four ¢children and the table below contains their destiiotics

Hair

r}\mie

Straight

doid

Daniel

Curly

Thomas

Curly

Victor

traight

L -M,J.,J__J

One of the children is adopied. VWho is most ikely 10 be the adonted ch'1d?

(1) Amie
(2) Daniai
(3) Thomas
(4y Victor

The table below shows some readings of 4 different simple machnes.

Simpte Simple
_ Machime A Machine C

[ Load (ka) 20 l 26

Effort (kg) ) £0

Distance 5 10

travellied by d

load (m) 1 .

Distance 120 5

travelied by

effort (m) i b

Which simpla machtnze would you use if vou waitt 1o complete yvour wark fasi
J ’

() A
(2) B
3 C
(4) D

www. misskoh.com
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13 Kanny wanes o ficd out tovw the number of dry cells wili affect the hrightnass o a bulb
\ . - N ERTEET . s ——, h

Which 2 of fhe sei-ups shouid he use?

|
|

i
,
!
|
.

e

Ces G

L L . X Y%
. S v.*(y, -4 ———va ._(\ L—-—l\_:.\-y_b—:———.w\’
Sot-up A Ret-up B
} {
- i P - Yy e e v__,_.{l }M_ NOSVANUEI
{ i

Lot o
A Sstun D
{1y A and &
(2 A zne R
(3) 8 and O
) Cand i
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Freist conducled two experiments witih materals W, X, Y ard .2 Study the two set-uny
carefully. ‘

) e .

| ;-

._ |

?

.f

Matenal i
Set-up 1 | Setup 2

He recerded his findings in the table and araph for set-up 1 and 2 respeciivisly.
_ 4
Material | Brightness of the o | o !
bulb ; 5 | PR i
W Ne light _ : T Pl ;'
< Brognt T { %_ ’ \}./\\\-/ s }
Y Dim - o i g g
=) < :—’- ‘ =
___Z Very brigint h ‘ W
L e
e feec
Results from setup 1 ’ Resufls from cat-on 2 :
L - L . . -

What canclusion can ha draw from tha abave date

() Al the materials are good conducters of haal ragardies: sl whelther thay can
. conduct eleciricity. '

(2} The longsr the mateiial takes to heal U, the beller the material is for
conducting electricity

(3) fiaterials that are good vonductars o elacicsity are ususily good conductors of
heat

(4% There Is no relationship betweean the two selz of dai.

www_misskph.cor_n 516 of 618.
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15 The tahic brdows shows tha performance schedule of the dalphing at the zoo from 7" to

the 137 June 2004,
'; 7 Jun HEN Y0 dos T ¥ < ion 72 i I 1 Jun 11
SUSMB B /O i (wed; {Thw) G {Sat; 8w !
[NeTef E 0 P2 2 ' 8 {8 {
j_shows i - i —

A lrainer ook niote of tha food intake of kis dofphins aver that week, His da'a is shown
in the tabie balow.

}';IQQ T RN g 8 Jon 17 J6a L3 Jun }

| den L ower [ OVed | ) (530S |

; _: ;s 50 50 75 30 |

| : 1
: — ’ o i |

:

: naugion ran the frainer make from the schedule and dota?

s

{1 Dols fish.
(2} Doiphirs need enarg yto perdorm.
(2) Doiphing ¢o not reed energy when there is no patformance,

(43 As thy nogmber of perfonrances increases, the chd inteke increages,

16 The shal shows the slassification of some materias.

et

r
, Materals i

T

: ’ ——.j
RN S ; -

Nop-metals |
{

[

e -4 ; .
‘ S | ]
e - - L ek — L
i Magnatic | ! Nar:--magnsiic] f Electrical 1 i Electrical 7}
! ! o . i 1 : . .
N o — —Jd 1 conduciors | insulators
B o — — : N < i ~ T
; ! ! - N }
i B - i S
A = | © | | o
IR S L x }

o g ¢
1 | TICKES o opper
= :i ron ] cergrmic
{2 ? atuminiym qlass -
i) P snpper 1 carbon _ _
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17 Birds have different types of beaks ta help them survive in the environment Stedy the
table carefully.

- .. . i ;
Type of Beak Exaniple of Bird ; Function ;
§ |

; '

i :

— ! .

e :

/\(/-f;‘lis?f_b'; To scoon sk o of

A " {7 1O SQO0D 5P ot ot !
Ry 2 I ' ! N - 3

‘< vy ' Lty i

1/__‘: . _,,,ﬁ : YOS L

_,N_,j.,f/y {7 | :

s 7 : :

VAR ; !

: i

- !

| | |

T : : -

] i

i i

{ i

l |

} :

) L Topack the ground
i {or insects 1

! :

| |

::

‘. ) f

| :

!

|

i Toaraw neclar rom i

[ MEREE (RN

G f flowars
i |

i i

: :

1

e R - ;

i

i :
D |
i

1

i

§

{ i

Nhich beak(s) nas /have been correctly matched @ its/thair luncions)?

oy

,._,_._,_,.,_
) N~
< L~

E=N

A oniy

Aand Conly

B and D only

B, Cand D only
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i
o

Py
«©w

Sk

objecis A, 8, G and D are hung on a poie above the ground,

ground.

0’5{5}‘{/; l‘.’ia:s. (k) Distance from croun o gcr
B G- 140
I 8 i , 56 !
LR 5 i 180
Which of hie foltssing i true of obisclg A, B, T and 7

fugane ¢

Object B prssasses the least potentiat enargy.
Object C posseszes the most potential erargy.
Objesi A hias more potential energy than Cbject
‘let  cossesses less potential energy than ’3b5( ct R

4

the tabis helow

ising stangs

mffer:m tanth, Thelatie shaws the mass of each obiect and ita distance from the

facted sanples of water from gifferent nonds and recorded his findi

of

ings in

§ Slarity Smell Number of Organismis_|
! Murky Musty T Many
i . Clear Odourless Few
§ Pond G Murky  Musty b Few
Dona D {  Clea [ Odourless | None ]

Which of the faliawing conciusions cannot be derved from his findings?

(1
(2}

14)

Whige!

P

[ ]

Clear warar cah sustamn aquatic ifs.
Odouriass water an sustain aquats fife,

Muriy andd musty water can sustain aquatic lite,

"JC-LC,) maet ha hoth clear and odouriess 3o susiain nCLam life.

W e fonewing mazsures can help to reduce air pollution”

Uz of wingmiile.

Usa of solzs celis,

and peQﬁC-ides‘
o power station.

L")'." ('\.f gr]qk:u\[»c'\
Usa of "W(""-- ar

( A #nd 3 .'\:--i\'
\2,1 P) &N W K l\n,
(3 A DL ana ﬁ:‘\,’

www.rmisskoh.com
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Kinetic Energy

A marble was released on the cived slope shown abovs., &e the La't movad, its
Kinetic energy was calcuiated and plotted on the graph below.

I 4
J

5

//w\. /'f\\

’ /
; \ # ) \1\

- ) \'\ B
: / x
/ § \j// I . \/

. Which point on the graph represents the Kinetic energy of the madia whens {fwa

the bollom of the slopa?

P N e
Q)@ P

ISV B RS
-

www.misskoh.cormn
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2 Ren wantad to fied out whether the surface of ar inciired plane affects the amnunt of

force needed fo mova an abject up the inclined plena. He set up the experimant as -
shown beiow :

A stao K
WWord 2
of hooks _ Woodan

binck

fair, which of the tollawing must he keep th

e same?

Magse of wonden hlock
Lerath of fae rarmp used

{ o0 3\.5, ramp
ack of hooks

C O W

LCand  only
P‘, Cand D

23 Which oag of the foliewing chtcmewtb is true about the Bird's Nest F
{1\ I is a fiowering pisat that Ban make its own food
{23 s & poa-fowering olant thal reproduces by spores.
{3y itis a fungus it *M‘ri\ on the tree which i siayes on.

{(#) It carno! phoosyniesize as it does not have ch-geophy]!_

24 WWh ’.

A T

COONY e

e S

o

yww.misskoh. coem
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25 Which of the foliowing animeals is correctly maichad (o its bah:

Animal _ Bebavioural Adaptation i
(1) Bat Wings thal enatia them to fiv T
(2) Mitipede ' url-“'o atiny ball when | oushed -
(3) Polar hear Thick white fur o kesp itwarm
(4) Fennec fox Big and jong ear 5 o cool itsel?
26 Which of the following are 'Teg—l‘me effects of deforegtation on tha environment?
A Destruction of tns o¥ons iayer
5 Erosion of the ton laver of soi
C [ncrease in carbon dicxide leve!
(1) A only
(2) B only
(3 B and G only
(4) A, Band C
27 Decomposers ennch the soil with nuldents for l"w v arb The diagram beiow shaws
how degcomposers acl on various organic matter and changs ther inta simple
subslances.
{
deac: d““"‘*“”'tuﬁ‘ j K
plants/animals g ., —y
: i i e {
1 I { nay i
‘1 : ! |
| : e gots oo
' N ;
b o !
lants ‘ i ~——  oroken gowr e !
PR ¥ Vo | |
!—1 '
\ , J,,_,,J--l G | i ==~ ¥  =zhzorbed by
VA T (A H
] a

N | carbon dioxide predators Aerents
(j:) !I waler |r ungi ) .‘ - “
(3) mineral S:uh ! scavengers ; "1?{*"-33 wasin

(4) t, minaral sakls hacieria L pnimsiwasie

WWW.Imisskoh.com
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e

4
Nuir:ber of
Organisr

¢ W the pond,

he uraph haolow she ows die change iti poputation of twe apimals A and B from

-~
‘¢

H 5
Time
Wihich of tha foliovsng 2ialement(s) can be deduced from the orep 7
A rganisr 8 i higger in size th'a.’x L’j:‘.rmm A
B3 Crganivin A ean move faster thans organism B.
» ‘(_'.’rq anisre A js fikely to be the pru‘ ot organism B.
n Organiar B controls the poputation of eryanism A.

{3 only
A and 8 nnly
S oang Doony
B and C only

Ing

[~

Terhaology hag trouas! about new materials that maxe life be‘?ev for evaryons, Which

ana of the ielowing salerials has not been correctly caired with

us \1\33‘

,;m Wan-mrce Naterials o Usage Mﬁ
& v orass _ ) Flectrical wires
{23 : weraimic Frotective liles for stbe shuttle
{3 : Stesl G § eryand c ﬂ.«'ing tilensiis
{41 L Pslic 1 Food conta iners and carmers

wWWW.Imisskoh.com
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Group A Grovn B

A0 B
/’2{':\‘ O-o v ) Y

The animals shown above have adaptations which ensbie them fo breathe i soualic

i

conditions. . ‘

The animals in Groun A are diffsraat from those i Grous 8 banause tnay

{h can ho'd tnel breains iof long penods

(2) brea‘he in dissoivad ogygen from the waler

{3 texe in oxygen from the aiv ebove the waler

{4} trap air budbies and carry their own supdly of oxyaen

www.misskoh.com
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PART I}
For questions 31 & 46, write vour answers in this bocklet.
The number of marks availabie is shown in brackets | ] at the end of sath question or part

question.
{40 marks)

31 The dingram beinw shows the skelatal system of the human lew.

12 What otber part of the leg. not shown in the diagram, erables ths ez fo bend o
stranghten” ' 4
) I the diagam above, circle the joint, which moves in 2 way most s'milar fo that
of tha st &y 1oink I

www._mis_s.‘(oh-com 525 of 618.
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32

Study the classification chart balow.

Animals

]
l

¢
- 1
N Y

e v o]

dogs not have a

backbohe ras a backoene

| . i

[ L |

' 1 e 1 { . H
has legs ; does not have , has feathars | | does nothsva |
N i ! | axthers !
)wq"r { ] | i R Y Lpw }
i ;o |
— .. = s S A S i S
I ; 1 | !
cockroach cobra penguin !
.- T
¢
{
e e !
i
}

(a)

{

D)

One animal in the chart has been classifind wrongly. Name
the characteristic that 1s wrony.

T AU

Pyt "deiphin” and

www.mmisskoh.com
it o -

earthworm™ i the abova alassification chiar,

i

! does not lay
z EaS §
: 5 '
[ AU,
whale
|

the animal ang "?atP

:ﬁ}
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W

Mary used the sat up halow o investigate

iray over the oiher and

o finxibilily of 2 different types of plastic, A
and B. She dlamued one end of each type of plastic stap on top of a benshrand hung a

tabie

gl

sWip

1a) At the end of the sxparment, she concivded that A was more fisxibia than B.
Wt resiits dvfshe getto enable her (e reach such a conclusion?

) Howwed theresuitsin fa) be affected f the plastic strips were moved cioser ta
the rable? H

B P e L

Ay

www.misskoh.corm
B3
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34 Some wax was heated until it meltad, The liquid wax was then '2fl to cool n a room z2nd
its termperature over a period of ime of ime was piotted as shown in the giaph belgw.

2

D LA—-—« i Y « -
O i } i ! ! i {
o . ! { i i ! 1 y
e i N 3 i
W | ¢ { 1 i ! i
\—~ RS : ! _r
T t 3 :
g i ' :
@ f :
g ¢ ,
RV :
Q. ‘ {
£ P
0) ; ;
= i
v

9.00 9.40 lv: Q.30 B
am am am’ armn

(3) What is happening to the wax batween Q.50 am and .20 am? 11

(o) Mark a cross (X) on the femperature axis to show the temparatura of the rogm.
)
(c) Put a tick () in the appropriate box balow {¢ show 1 ha wax was gaining ar
losing heat duying tha foilowing periods of time. i1

' . ~ Gaining Lasing Neither Gaining
Timse (dm) Heat Lieat Nor 5in 2—](:\"" t

_k. Pt at INDE L..O.. 8_ 2AN _{

{

l
:
' 0.00 =9.10 |
| 910 -920 | |
— H - H

|

‘g |
]

)

il

.

35 Complete the passagz by filing each blank with & suitable woard. {

A tharmometer is an instrument usad formzasunng CThe hwo
liguids cornmonly Usad in a thermomeater ars alconal and - R bt
part that holds the licuid the therrromeier is (e __; o CWihan this
part is coolad, the liquid in it vl loss haat and . - This wilf causs

Mﬁis_#kph-com 528 of 618
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16 The diagram balow shows 2 mode! of the respiralory system,
e =~ glasa tube

hel jar

f::: balioons

Al Apace

—e— ryhber shaat

) The teble balow shows the parts of the model and the parts of the respiratory
systam they regrasent. Fill in the missing information.

et
e
—

: !
{
! Farts of the model i Pavis of the wsp;ratory system
}
! e
| gigns ube
: T .
} ) NS
i - |
) | :
| rubber sheet { diaphragm
L | S S
D) Virite down ar# difference between the blood entering ths lungs and the blood
leaving the lungs? , o)
WWW. m:ss.‘mh com i} | 529 of 618.
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v
T

Reuben set up an exgerimentin a dark room as ¢

hown in the diagram bejow, After soma

time, he noticed that oxygen bubbles were collected at the top of the test tube. At ths
end of five hours, he measu.ed the amount of oxygan produced by the hydnlla. He did
this by nating the height of the air columin in the test tube. He repeated the avove

procedures twice, each time with a different colovred fight oulb

(@) What is the vasiable changad in tris experimiant?

(b) What is the aim of Reuben's expoenmant’? iy
(¢} Draw and label a control set-up nzeded fo” this expediment, 12]

i

i

}

|

]

i)_

!

i

!

: o |

— .misskah.com ) 530 of 618.
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The tavie halow showe the statistics of cur Solar Sysien,

T Planet | Distance from the sun | No. of days taken Length of [ay ’
_ L) for one revotution | (in Zatth days or hours)
Mercury | 87,400,000 83 53 days
. { .
" AR AT ~r -~
Venis ! 108,208,000 L 224 243 davs
Earth | 149 £26,000 285 24 pours
3 - v [ -
z
Mars 228,000,000 6838 24.8 hours
dupiter TTH 400,000 4329 9 & nours
s .
|~ R
Satum | 1,427.000,000 10753 1.2 hours
b Urands 72.869,230,000 30860 3.5 hours
SO for s sare - ot e et
Neptune 4,437.000,000 ,- 20182 15.8 hours
- ‘ - U —
! : s ey AR g !
i Plto ; £ 913, 720.000 0411 1 €.4 days §
i y — — [N - )

What &

[
o
ato N ai¥iat

(&)

PO I

anoe cen'you make about the gistance of the plaaets from the sun and

11}

LM

{r What nfers

nce ven you make aboot the number of days sken for the plane!s to
make gne revoivtion and thelr lengthof day?

(1

www.Immisskoh.com
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TG on o the naxt page

)

4

531 of 618.



39 Joel was given spnng X and Mark was given spring Y. Thay had ia find oul the isnath of
each of their springs when different weights were hung en it. The graph below shows
. the resuilts.

Spring X

24 - -
A‘"“"f’,

—~ ’\/" .
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, : ' Weight {g)

(a) What weight was hurig on ea3ah of the springs whan they were of identica]
iengths? S
{b) Which is the more elasticspring? {51

{) Explain your answer to {(b) {1
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40 A groap of pupis cams

4 out an activity to find out Fow ong it would take tor a pandutiom

to swing from Aty B and back to A again. They repzated the experiment with strings of
different lenaths and bobs of different weights. The {able below shows the results of

their expeiment
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¢ Length of fime taken to complete 1 swings {seconds}

String {em)
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41

Jonathan put four water snails and some hydriila plants in 3 jar of pond water. He then

sealed the jar and Ieft it

car an open window.

— e

shail
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Alter a week,

Jonathan observed that afl the
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orgen s M the arwere give

(a) Explain the two ways in which the snalls hel o ths hyddiiz to survive. [2i

(b) Explain the two wavs in which the hydalia hefps tha snails to survivie, {2
- \
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www.misskoh.com

L XY

P s e ey jb)\ty ‘_}4-\

3:34 of 618.




Ma tanie peinw ghowe fow some fuits can be classifind,

Dispersal Method

!

T
P — T AT

(3) The fruit shewn above can te classified under two croups (A, B, Coiland T,
Which are they? {13

ame Ty b v Rt e

ey
o

-

{t) State two acaptations that the seed of tha Afiran Tulip ias for dispersal.
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43 In her effort to be environmentally friendly, Mis Ang separated some household waste
into 2 bags.

&r"\,’w“‘
.2—«4-» M.\

paper cup
chicker bon2

prawn snell ‘
\‘-‘ B s
Bag A Bag &
(a) Whal proparty of materials did she tse to separate them into two groups? | ]
Things n HagA e | .
Things in Bag B are
(&) I which bag would she disposs of some wonc {g’w mwmt.c'\w \ivhy? i1}
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44

fx ajan mmqwl some dou q‘w using flour, sugar and water and shaped them into 2
2ctangaiar jum = one of the lumps, he addead veast and in another fump. he added

Jmttar He jeit +hm wmps n awarm place for 1 bour, Measurements of their haights were
“taken before and sfar the period and recorded in the {abie below.

. Lump A LumpB 1 Lump G|
[ Height { Before } 50 59 50
L{em) | After | 55 45 50
(3) Inwhich of the fumms (A, B or C‘) ~ad the yeasl been acdded? J1i

) W mr g "DM'V% the yeast when it inter

wanm condt

acted with the waler and sugar in the

L%,
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15 Look at the picture of o three pin olug.

wire
(@)  Name the matenal that is used to make 5 and B N

‘Als made of

B is made of

[ES SRS

{b) What proparty does material A have thal makes it sultable for its funstion?

-y
<<

1J
4
<
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46 The pie vharts balow show the parcentage of animals in two feaf ithar communitins, The
oie aharts are not drgwn 2 ccale
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L N e o P

Leaf Litrer A Leaf Litter B

(8) Study the charts and state whether the statements that fsliow are True (1), Falas
' {FYyvr Not Pos.qnn: 1o Tell (N). Complete the table by fling in T For N {21

i jitter «\ nere are threa times as many temites -
. tngvedeq L -
(it} Lealliter A hags fewer centipedes than leaf fiter B
4 | The biggast pooulation of animals in ieaf Hiter B ks th
' Cwordlice. ' ‘
vy 1 Thers are more types of animals in leaf ftter & than A, i'
', ;
(B Which anmial ishe preJator in the leaf litter B? i
{c} Why doegs the ramperature wi Hhin the iz et net change very much durt
day s
_ _ 0 _45 YEXr 2 B hﬂ\7 oagg\
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ANGLO CHINESE SCHQOL {JUNIOR)
ANGLO CHINESE SCHOOL (PRIMARY)
PSLE PRELIMINARY EXAMINATION 2004
SCIENCE

PRIMARY SIX

L

01. 4 1. )
02. 3 12, (4) 2.
03. 14 i3, !
04. 1 14,
05. (4) 15,
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ey
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06. 3 16. 2

07. 3 {7. 278

08. 1 ' 18, 4 28, © (3) -
09. 4 10. 4 29. 1

10. 2 20. 3 30. 3

31) a) muscles A 32) &) Coubra. Toas aot have a backbceoe.
b> C) e e = ki e G‘arthwor'l'ﬁ [OOSR

=== dolphun

=

33) a) Plastic strip A ben ore than rilestic stéip B
a

same welght waa

b) The plastic strips would not band thut much and
be difficult to get a2 rTesult.

24) a) It was becoming & soiid
&) Losing heat

Losiuy hents

35) temperatures
fmercury
bulb

contract
36) =) ) windpigpe

balloons

51 The Hlood entering Lhe lungs has wmorve caerbon dioxade ana

whes tha

woeuld

the blood leaving the lungs has leas carbon didxide.

(%)
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o1}
—

The different coloured ey JTese fubve
light bulhs. j (?f/

kY
T
b) It was to find out if v T'r“ **** %
diffevent ccloured Ty Ei‘_Lf .
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S istance of rhe planets from the sun incréases,
rthe number of days-taken fov Lhen to inake one
on aisc increases. :

by Thev have no rslarionship.

<

-

.

393 3) The weisght was 40

5

b) Svwing ¥,

¢y Spring £ extended more than Spring V when the sawme
veight was Sung ‘on them, '

h wf rhe gpripg affests the gpeed atb which
fulum guwings,

(=

“he fength of the =string until it ds iless than

1Y w) Ix exhaied rarbon dioxide for the plant to make food.

Tre wasts acted ag nutbriants

by Lt provided the 'snatls with eox

whizh %he =snails vsed for resziratbion.
It sroyided the snails with food.
42Y a3 A ond O
5) ¥t Nag 5 hard pod to split vpen and its seesds are
small and light.
Tight mad thio seeds and wing-iiks siructure.
4%Y a) bicdegradable
noa-biadegradable
by She vould dispose it in A, I% is biodegradable and -
car - broken down inroe simplee substances Lor plants
tc :I
Lay ar Lump A

HY I% reproduced and multiplied.

B
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entricity .

Aa) ay 13 ¥ ii) N iii) F ivy F

Y Thn lend 3cus as an insulisteovr of hear.
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